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_1. The required return to owner-provided inputs (such as equity capital) is an:
A. explicit cost. B. implicit cost. C. economic rent.
D. entrepreneurial profit. E. economic profit.

2. When marginal profit equals zero:

A. the firm cannot exercise price discrimination. B. profit is maximized.
C. the firm can increase profits by increasing output. D. the firm can increase profits by decreasing output,

E. marginal revenue equals average revenue.

3. The maximin criterion involves:
A. maximization of expected returns. B. minimization of expected opportunity cost.
C. avoidance of the worst-case scenario. D. acceptance of the best-case scenario.
E. focus on the base-case scenario.

4. If the market price is higher than the equilibrium price:
A. a shortage exists and the market price will fall until it equals the equilibrium price and the shortage is
eliminated.
B. a shortage exists and the equilibrium price will rise until it equals the market price and the shortage is
eliminated. ‘
C. a surplus exists and the market price will fall until it aquals the equilibrium price and the surplus is
eliminated.
D. a surplus exists and the equilibrium price will rise until it equals the market price and the surplus is
eliminated.
E. all of the above

‘5. If the quantity of WAX is measures on the horizontal axis and the quantity of CLAY is measured on the
vertical axis, the slope of the budget constraint will decrease if:
A. the budget decreases. B. the price of WAX decreases.
C. the price of CLAY decreasss. D. the marginal utility of WAX decreases,
E. the indifference curve decreases.

‘6. The demand for a product tends to be inelgstic if:
A. it has many substitutes.
B. it is expensive.
C. a small proportion of consumer’s income is spent on the goaod.
D. consumers are quick to respond to price changes.
E.itis a normal good.
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7. A decrease in demand is caused by:
A. an decrease in price of complements. B. 2 decrease in price.
C. a decrease in advertising. " D. an increase in the price of substitutes.
E. an increase in the availability of complements.

8. Social habits that produce an annual pattern in a time series result in:
A. secular trend. B. cyclical fluctuation.  C. seasonal variation.

D.irregular influences E. random influences,

9. An iso-quant represents:
. output combinations that can be produced for the same cost.
. input combinations that can be employed at the same cost.
. input combinations that can be efficiently produce the same output.
- output combinations that can be efficiently produced using the same input combination.
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. output combinations that can be efficiently produced at the same time.

10. The percentage change in operating profit that results from a 1-percent change in units sold equals:
A. the degree of operating leverage.  B. the cost elasticity. C. the returns to scope economies.
D. marginal profit. E. Lerner Index

11. Accrual accounting methods reflect
A.current market values.  B. opportunity costs. C.sunk costs.  D. expected costs. E. expected profits.

12. When marginal costs per unit are constant, average costs are also constant, and constant returns to
scale predominate. Size leads to neither significant disadvantages nor significant advantages in production.
Increasing marginal cost give rise to:

A. the traditional U shape of the average variable cost curve., B. falling average costs.
C. significant size advantages in production. D. constant returns to scale.
E. Economy of scope.

13. When the costs of all inputs rise by a given percentage, the iso-cost line:
A. slope increases. B. slope decreases. C. slope is unaffected, D. slope is zero.
E. and objective function intersection will be unaffected.

14. In the short run, a monopolist will:
A. never shut down. B. shut down if price equals average total cost.
C. shut down if price is less than average total cost.  D. shut down if price is less than average varizble cost.
E. shut down if price is less than average fixed cost.

15, In general, a perfectly competitive industry will sell:

A. more output at lower prices than monopoly. B. less output at lower prices than monopoly.
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C. more output at higher prices than monopoly. D. less output at higher prices than monopoly.

E. equal output at same prices than monopoly.
_16. Rational oligopolistic firms:
A. always make decisions expeacting reactions from competitors. B. seldom earn economic profits.
C. always produce differentiated products. D. always produce homogenous products.
E. always collude.
. .17.In long-run equilibrium monopolistic competition results in:
A. P=MR and AC=MC. B. P>MR and AC<MC.  C. P>AC and MR>MC.
D. P>AC and MR=MC. E. P=AC and MR=MC,
-18. A firm supplying a single product to two distinct submarkets will maximizes profits by equating:
A. price in each market to marginal cost. B. average revenue in each market to average cost.

C. average revenue in each market to marginal cost. D. marginal revenue in each market to marginal cost.

E. total revenue in each market to total cost.

19. The burden of a per unit tax on a product will fall primarily on producers when:

A. the tax is collected from praducers. B. the tax is collected from customers.
C. demand is highly elastic with respect to price. D. demand is highly inelastic with respect to price.
E. demand is highly inelastic with respect to disposable income.

20. Which of the following is true regarding the following entry deterrence game? (If the potential
entrant does not enter and the incumbent firm charges high prices, the incumbent firm makes a profit of

$200)

Potential Entrant
(880 fixed costs)

Enter Stay out

High price |
(accommodation) |-

Incumbent

Low Price
{warfara) |

It is rational for the potential entrant to stay out of market.

Entry deterrence games are generally simultaneous games.

It is rational for the incumbent firm to exit.

Itis rational for the incumbent firm to propose a merger deal and split 50:50 the financial interests
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between the two firms.
E. Theincumbent firm could threaten the potential entrant with warfare if it enters the market. But the

threat is not credible.
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